Chapter 2 Task B

Recall that the equation of a circle, centred at the origin with radius r, is x2 + y2 = r2. 
Use this as the base relation for each question below. 
1. Use transformations and a table of values, or technology, to sketch graphs of each pair of relations. Explain the transformation from the base circle to the image. Compare each transformed graph to the graph of the base circle.

a) x2 + y2 = 9 and (x – 1)2 + y2 = 9. 

b) x2 + y2 = 16 and (x + 3)2 + (y – 2)2 = 16

c) x2 + y2 = 1 and 
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d) x2 + y2 = 1 and 
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2. Describe how to use transformations to sketch a graph of 
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3. Use your description from step 2 to sketch a graph of 
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4. Predict the equation of the relation shown. Justify your answer.
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